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B8 B EBE 1

EBRBE AT T RERN - RERN,
ZA—R
BR#EER r =kC
k=0.5 1/(mol + min)
BE IR IS e B A LR 43 50
C=1 mol/1
F=0,3 1/min
AT R,

(1) HETAARADNIANL2B M E N 8 |
CSTR) My LR BRRE S, 354 B3R R B Bk 2 X, 35 3
0,85, EAFEILAM?

(2) RIFE 1) FHEHSEBM Kt & 4R

k., F, ¢, EHFRAKABEDTHLEHBEEY,
RWBEN=1, 2, -, BHOEHERENHET? HE5AS
BRMEZER RS (B) PFR, #%F N=oofffCSTR)
LR E— L8,

O 209

XFNMSFRKCSTR WERKAS, RILHE 1 M
YR Ok RN OWESHIHRC: . RC(1=1,2,-,N),
BRAV,, MELIFFR,
EIIH'HE%:
C./Ciy= (V1+4kr,C,_, — /2%, (1—1)
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=) clo
r Ca ] G Vi [+] Ca-1 V. Ca
F i F C: F F C. F
M.l
C./Co= M (C;/Ciu1) 1—2)
X,=1-C,/Cy a—-3
ﬁt&t! =V, /F
SHFRB N VIYPFR, MELFR.
., Co : vV Cy
F - F
1.2
BT iE
Ci/Cy= 1/(1+ktCy) a1—8
X,=1-Ci/Cy (1—5)
Wht, v=V/F
(B RHENH]

REEE PR EN&ERR A—-1D—0—5) IHHFE
BENBRENHELERETESAS. AT A—1D—Q1—3
BREEMR, YU —-BFRFLE GER400—430) . BF

28 B B SURB N F .
K—#ENHk
F—4BWMERF

Co— Rt RN YREEC
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C—ERBPHENYHEC,

V—%&H, EHEROFREV,, EEDORREY
T — AT, 22090 RFr,, EEMBLPRET
X —¥ERX,

HRERRTELS,
1.0
0.9 4 > -
L. 0.8 )
e |
0.7 "
" |
0.6 1 g\ " d
.4
0.5 — . .
0 5 10 i5 0 5
BREN, N
1.3

10 REM PROBLEM-—1

20 K=0,5: REM <1/mol/min)
30 F=0.3: REM <1/min)
40 CO0= 1: REM <mol/1>
50 REM CSTR(Vs=1)*N
60 V=1: REM <>

70 T=V/F

80 C=C0

90 N= 0

100 GOSUB 400

110 N=N+1

120 IFX>>=0,85 THEN 140

.3



130
140
150
160
170
180
190
200
210
220
230
240
250
260
270

280
290
300
310
320
330
340
350

360
370

GOTO 100

GOSUB 500

PRINT “FOR Vs=1”
PRINT ¥ N= ” ; N,
GOSUB 500

“X>,8500”

REM CSTR*N (Vt=1xN)

V=N

PRINT “FOR Vt="7 ,
FOR N=1 TO 25
T=V/N/F

C=Co

FOR I=1TO N
GOSUB 400

NEXT I

v

PRINT “N=7 ; N, kX =7, LEFT %

(STR$ (X) , B
NEXT N
GOSUB 500
REM PFR (V=1XN)
T=V/F
Y = K«T#C0
X=Y/(1+Y)
PRINT “FOR Vt="
PRINT “N= infin” ,
(STRS (XD » B
GOSUB 500
END

v
4x =", LEFT$



400 Y=SQR(1+ !#K«T*C) *
410 C= (Y- 1)/(2#K=T)

420 X=1-C/Co0

430 RETURN

500 PRINT---------==-==-===

510 RETURN

RUN

FOR Vs=1

N=5 X>, 8500
FOR Vt=5

N=1 X = .7084
N=2 X=,7934
N=3 X =,8253
N=4 X =,8417
N=5 X=,8518
N=6 X=,8585
N=7 X=,8633
N=8 X =, 8669
N=9 X =,8698
N=10 X =,8720
N=11 X =,8739
N=12 X =,8755
N=13 X=,8768
N=14 X=,8779



N=16 =, 8797
N=17 X =,8805
N=18 X=.8812
N=19 =,8818
N=20 X=,8823
N=21 X=,8828
N=22 X=_8833
N=23 X =,8837
N=24 X=,8841
N=25 X=,8844
FOR Vt=5

N=infin X=,8928

BE 2 HEBNHHNESHITHE 2

HEBERN3mm A BR TERE B 1m/s BE KM
MBI R ENEE, FHBNEEN 1000ks/m*, KEH
B R A R LL 2R . HIRTE1000—1400°CZ[H],

441

1. SBRERFEMTHE.

WMERGEM A BB T, HRanz-MarshallsX,

Sh=2,0+Re'Sc'? @D
HYrRe=d,up/u, Sc=p/pD, Sh=k,d,/D

BB ASKEEw BR, HAMKKEEL . M

R MEESSPRT BARDREBENRR. HEXW

o‘o



SBEBS, WER
p=pe(273/T)
Bkt po=1.20ke/Nm®, 7 KTEfRAERAERIM 0 H,
5 BFRr Sutherland X itH,
= pl (273 +¢) /(T +¢) (T /273)" @—2)
c=1,47T;
25 B 273K B RS FE R BR A B 50
o= 0,0616kg/(m,h)

T; = 79K
AL P T BOR BORAE AR R B BUE S S
D= Do(T/273)""p (2—3)

Dy=0,178cm?/sec
B, AX 2—1 "RUERREK, .
2, 4k BT B R HOR B R B R B T
HRIEHott 1% , 75 Bk MR 1S5 I 9 B S vl Fm
k, = 6,418 X 10MT *exp{ - 44000/1,987T) Cm/h]
(2—4)
W K RO e, RN AR Bk
k,=1/(1/k; +1/k.> 2—5)
3, HHERTRE/LMBLRE,
R
C+0, = CO;
17, WA ABRTFAETEROYNER
—p. Arridr/dt= M. 4dnr’k . C 2—6)
B, ¢ —ZFSPHAKRE, (mol/m’)
po— A BEE, (kg/m® ,
M. Bl0,012kg/mol,



TEMBHEAEL=0, r=r VISR C—6) , #
ro—r=(M./p.)k,C ¢ @c—7
BB MR RN RGN AR R
HMBATRE, =1y, r=0, RAR @—7) , @
ty=Ap./M)ry/(k,C) 2—8)
| €35 3 3 10N |
WRABNEF R HSREEREAL, RiEBHS
R, F1000—1400°CHRIRBEMEN, LI0CHITREK, K
REH, MBEM00—-2500%, BRENHERES S AR H 1
[#% (MDPYd,, US5u%), XA RFRAEAERHNT,
RC, RG, EG, DO, CORHIREp..P, 4, Dy, C,
RG(O)BRGEFESFTHIRM, Moy, HHKME,
TCHI T 43 51 5% FC I8 BF F 4839 L0,

HHERRTHE21,
1060 - "
500
- #
L]
: -
0 . .
200 1100 1300 1500
T (C)
E2.1

10 REM PROBLEM—2

« 8§ o



20
30
35
40
45
50
60
70
80
90
95
100
110
120
130
140
150
155

160

170
180
190
200

210
220
240

DP = 0,003:REM {m,

RC = 1000:REM <kg/m3>

MC=12: REM <kg/m2)

U=1: REM <{m/s>

P=1: REM <atm>

RG(0) =1,29: REM <kg/m3>

EG(0) =1,71E— 4:REM (N#s/m2)

Co(0) =0,21/22.4: REM <(kmol/m3>

DO(0) =0,178E—-4: REM <(m2/s>

C=1,4T%(273 ~ 194)

PRINT

PRINT “TEMP,.°C” , “TIME, sec”

FOR TC=1000 TO 1400 STEP 10

T=TC+ 273

RG = RG(0)#273/T

EG = EG(0)*(C + 273) /(C+ T)*(T/273) " 1,5

DO = DO(0) % (T/273) ~1,77»P

CO=CO(0)*273/T

RE = DP#U*RG/EG

SC = EG/RG/DO

SH=2.0+0,6#RE™0,5#5C "~,3333

KF = S+ )Q,/DP

KR =6.418E11 * EXP (- 44000/1,987/T)/
SQR(T)/3600:REM <m/s>

KT=1/(1/KF+ 1/KR)

TF = RC/MC*DP/2/KT/CO

PRINT TC, LEFT$ (STRS$ (TF) , 5



